

Differentialgeometrie auf Mannigfaltigkeiten

FSU Jena - WS 07/08

Serie 06 - Lösungen

Stilianos Louca

17. April 2009

Aufgabe 1

Beginnen mit den Definitionen

$$(f \wedge g)(x_1, \dots, x_{p+q}) := \frac{1}{p!q!} \cdot \sum_{\mathcal{P} \in S_{p+q}} \chi(\mathcal{P}) f(x_{\mathcal{P}(1)}, \dots, x_{\mathcal{P}(p)}) \cdot g(x_{\mathcal{P}(p+1)}, \dots, x_{\mathcal{P}(p+q)})$$

und

$$a^{i_1} \wedge a^{i_2} \wedge \dots \wedge a^{i_p}(x_1, \dots, x_p) := \sum_{\mathcal{P} \in S_p} \chi(\mathcal{P}) \prod_{j=1}^p \langle x_j, a^{i_{\mathcal{P}(j)}} \rangle$$

und schreiben

$$\begin{aligned} \{a^1 \wedge (a^2 \wedge \dots \wedge a^p)\}(x_1, \dots, x_p) &= \frac{1}{(p-1)!} \sum_{\mathcal{P} \in S_p} \chi(\mathcal{P}) \langle a^1, x_{\mathcal{P}(1)} \rangle \cdot (a^2 \wedge \dots \wedge a^p)(x_{\mathcal{P}(2)}, \dots, x_{\mathcal{P}(p)}) \\ &= \frac{1}{(p-1)!} \sum_{\mathcal{P} \in S_p} \chi(\mathcal{P}) \langle a^1, x_{\mathcal{P}(1)} \rangle \cdot \sum_{\substack{\mathcal{Q} \in S_p \\ \mathcal{Q}(1)=1}} \chi(\mathcal{Q}) \prod_{i=2}^p \langle a^i, x_{\mathcal{P}(\mathcal{Q}(i))} \rangle \\ &= \frac{1}{(p-1)!} \sum_{\mathcal{P} \in S_p} \chi(\mathcal{P}) \cdot \sum_{\substack{\mathcal{Q} \in S_p \\ \mathcal{Q}(1)=1}} \chi(\mathcal{Q}) \prod_{i=1}^p \langle a^i, x_{\mathcal{P}(\mathcal{Q}(i))} \rangle = \frac{1}{(p-1)!} \sum_{\mathcal{P} \in S_p} \sum_{\substack{\mathcal{Q} \in S_p \\ \mathcal{Q}(1)=1}} \chi(\mathcal{P}) \chi(\mathcal{Q}) \prod_{i=1}^p \langle a^i, x_{\mathcal{P}(\mathcal{Q}(i))} \rangle \\ &= \frac{1}{(p-1)!} \sum_{\substack{\mathcal{Q} \in S_p \\ \mathcal{Q}(1)=1}} \sum_{\mathcal{P} \in S_p} \chi(\mathcal{P} \circ \mathcal{Q}) \prod_{i=1}^p \langle a^i, x_{\mathcal{P}(\mathcal{Q}(i))} \rangle = \frac{1}{(p-1)!} \cdot \frac{1}{p} \sum_{l=1}^p \sum_{\substack{\mathcal{Q} \in S_p \\ \mathcal{Q}(1)=l}} \sum_{\mathcal{P} \in S_p} \chi(\mathcal{P} \circ \mathcal{Q}) \prod_{i=1}^p \langle a^i, x_{\mathcal{P}(\mathcal{Q}(i))} \rangle \\ &= \frac{1}{p!} \sum_{\mathcal{Q} \in S_p} \sum_{\mathcal{P} \in S_p} \chi(\mathcal{P} \circ \mathcal{Q}) \prod_{i=1}^p \langle a^i, x_{\mathcal{P}(\mathcal{Q}(i))} \rangle = \frac{1}{p!} \sum_{\mathcal{R} \in S_p} \sum_{\substack{\mathcal{Q}, \mathcal{P} \in S_p \\ \mathcal{P} \circ \mathcal{Q} = \mathcal{R}}} \chi(\mathcal{R}) \prod_{i=1}^p \langle a^i, x_{\mathcal{R}(i)} \rangle \\ &= \frac{1}{p!} \sum_{\mathcal{R} \in S_p} \chi(\mathcal{R}) \prod_{i=1}^p \langle a^i, x_{\mathcal{R}(i)} \rangle \cdot \underbrace{\sum_{\substack{\mathcal{Q}, \mathcal{P} \in S_p \\ \mathcal{P} \circ \mathcal{Q} = \mathcal{R}}} 1}_{p!} = \sum_{\mathcal{R} \in S_p} \chi(\mathcal{R}) \prod_{i=1}^p \langle a^i, x_{\mathcal{R}(i)} \rangle \\ &= (a^1 \wedge \dots \wedge a^p)(x_1, \dots, x_p) \quad \square \end{aligned}$$